Odds Ratio

Study or Subgroup IV, Random, 95% CI

Odds Ratio
IV, Random, 95% ClI

8.1.1 Acute respiratory infection

Blizzard 2003 1.59[1.19, 2.12]

Bonu 2004 1.15[0.99, 1.33]

Etiler 2002 1.07[0.80, 1.43]

Kristensen 2006 1.45[1.08, 1.94]

Subtotal (95% CI) 1.27[1.07,1.51]

Heterogeneity: Tau? = 0.02; Chiz2 = 5.98, df = 3 (P = 0.11); I2 = 50%
Test for overall effect: Z = 2.74 (P = 0.006)

8.1.2 Bronchiolitis
Al-Shehri 2005
Anderson 1988
Breese Hall 1984
Chatzimichael 2007

2.51[1.69, 3.73]
1.99 [1.00, 3.96]
4.78[1.75, 13.01]
2.20 [1.34, 3.60]

Hayes 1989 3.86 [0.81, 18.41]
McConnochie 1986 3.21[1.42,7.25]
Reese 1992 2.15[0.76, 6.10]

Subtotal (95% CI) 2.51[1.96, 3.21]
Heterogeneity: Tau? = 0.00; Chi2 = 3.03, df = 6 (P = 0.81); 1= 0%
Test for overall effect: Z = 7.32 (P < 0.00001)

8.1.3 Bronchitis
Chen 1988
Fergusson 1985
Gergen 1998
Hakansson 1992

1.25[1.03, 1.52]
156 [1.15, 2.12]
1.97 [1.43, 2.71]
3.25[1.27, 8.35]

Jin 1993 1.78[1.18, 2.68]
Leeder 1976 1.96 [1.37, 2.80]
Lister 1998 0.91 [0.56, 1.47]

Subtotal (95% CI) 1.58[1.27, 1.98]
Heterogeneity: Tau2 = 0.05; Chi2 = 15.70, df = 6 (P = 0.02); I2 = 62%
Test for overall effect: Z = 4.07 (P < 0.0001)

8.1.4 Unspecified lower respiratory infection

Baker 2006 1.29[1.01, 1.65]
Broor 2001 0.18 [0.02, 1.30]
Chen 1994 1.49[1.06, 2.10]
Duijts 2008 0.82[0.48, 1.41]
Ekwo 1983 2.09[1.12, 3.89)
Ferris 1985 1.85 [1.56, 2.20]

Forastiere 1992
Gardner 1984
Koch 2003
Margolis 1997
Nuesslein 1999
Ogston 1985
Ogston 1987
Pedreira 1985
Rylander 1995

1.32[1.06, 1.65]
1.25[0.81, 1.93]
2.13[1.31, 3.47]
1.40[0.93, 2.10]
1.08[0.17, 6.80]
1.94[0.94, 3.99]
1.68[1.34, 2.11]
1.27[0.97, 1.66]
2.17[1.31, 3.59]
Taylor 1987 1.46 [1.19, 1.79]
Subtotal (95% CI) 1.49[1.33,1.68]
Heterogeneity: Tau? = 0.02; Chi2 = 26.51, df = 15 (P = 0.03); 12 = 43%
Test for overall effect: Z = 6.66 (P < 0.00001)

8.1.5 Pneumonia
Hassan 2001
Suzuki 2009

2.16 [1.42, 3.28]
1.55 [1.25, 1.92]

Victora 1994 0.94[0.72, 1.22]

Subtotal (95% CI) 1.43[0.93, 2.21]

Heterogeneity: Tau? = 0.12; Chi2 = 13.87, df = 2 (P = 0.0010); I2 = 86%
Test for overall effect: Z = 1.63 (P = 0.10)

Total (95% CI) 1.54[1.40, 1.69]

Heterogeneity: Tau2 = 0.04; Chi2 = 94.60, df = 36 (P < 0.00001); I = 62%
Test for overall effect: Z = 8.85 (P < 0.00001)

Test for subaroup differences: Chiz = 29.50, df = 4 (P < 0.00001), I2 = 86.4%
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